
Evaluating Polynomials at large x values

We learned much about graphing polynomials just from the intercepts.
To complete our graph, we need to understand what happens on the
right and left hand sides.
That is, what happens for large positive and negative values of x
Let’s study a polynomial algebraically by evaluating at large x−values
Example: Evaluate P(x) = x3 − x2 − 3x + 5 for large x−values
for x = 10:

x4

for x = 100:

x4

for x = 1000:

x4

Note 1: As x gets big, P(x) gets REALLY big
Note 2: The lead term gets the largest.
To put context to this, think in terms of money. If you gained $1 billion
dollars, would you care about losing $1 million dollars
The lower degree terms become insignificant
In particular, for large values of x : P(x) ≈ anxn = lead term
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